
SAP ABAP table COST {CO Object: Price Totals}

COST

MANDT [CLNT (3)]

LEDNR [CHAR (2)]

OBJNR [CHAR (22)]

GJAHR [NUMC (4)]

WRTTP [CHAR (2)]

VERSN [CHAR (3)]

TARKZ [CHAR (3)]

PERBL [NUMC (3)]

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]
 COST-OBJNR = ONR00-OBJNR 0..N

1

T000

MANDT [CLNT (3)] COST-MANDT = T000-MANDT 
0..N

1
TKA09

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

VERSN [CHAR (3)]

 COST-VERSN = TKA09-VERSN 

0..N

1

TKA10

MANDT [CLNT (3)]

TARKZ [CHAR (3)]

 COST-TARKZ = TKA10-TARKZ 

0..N

1


